•

1

KILOMETER-WISE ABSTRACT OF DIVERTED AND UNDIVERTED FOREST AND SECTION OF NH-15 (JAISALMER-BARMER) KM. 0.000 TO KM. 153.034 ARMER FOREST DIVISION (KM. 68.00 TO KM. 153.034)

· . · ·			· · · ·	erne de				· · · · · ·		KILOIVIE SECT	ION OF	NH-15 (JAI	SALMER-	BARMER)	KM. 0.0	00 TO KM. 19	53.034	·~	· .	, titu			•			
• •			. •								BARN	MER FORES	T DIVISIC	N (KM. 68	3.00 TO KI	M. 153.034)	•	5. 						<i>R</i>		
111 2 A 2 A								Diverted F	orest Area		Forest	Diverted F			Saract Araz	Grand Total	Undiverter Si	d Area (Left de)	Forest Area	Forest Area	Undiverted Sid		Forest Area	Total Undiverted Forest Area in	Grand Total Undiverted Forest Area	
	SI.	Design Cl	hainage	Existing	Chainage	Road Width in	Existing ROW in (m)	\(Left	Side)	Forest Area in Sqm.	Area in Hect.	(Right		Forest Area in Sqm.	Forest Area in Hect.	Diverted Forest Area in Hect.	Width in	Length in	in Sqm.	in Hect.	Width in (m)	Length in (m)	in Sqm:	Hect.	in Hect.	
	No.			From	То	(m)		Width in (m)	Length in (m)			Width in (m)			0.002	0.003	(m) 7	(m) (5)	36	0.004	19	5	96	0.010	0.013 0.353	
		From	To		108675	12	45.50	15.486	5	16	0.002	3.596	<u> </u>	18	0.002	0.179	18	95	1682	0.168	19	95	1844 349	0.035	0.120	· .
	421	108000	108005 108100	108670 108675	108670	12	45.50	5.043	95	1471 242	0.147	15.486	48	743	0.074	0.099	18	48	850 998	0.085	19	52	1004	0.100	0.200	
	422	108005	108148	108670	108718	12	45.50	, <u>5.043</u> , <u>3.562</u>	48	262	0.026	3.446	52	179	0.018	0.044	19 20	100	1967	0.197	20	100	1975	0.197	0.394	
	424	108148	108200	108718	108770	12	45.50 45.50	3.083	100	356	0.036	3.004	100	300 353	0.030	0.066	19	100	1917	0.192	19	100	1922	0.192	0.375	. •
	425	108200	108300	108770 108870	108870 108970	12	45.50	, 3.582	100	308	0.031	3.528	100	355	0.036	0.072	19	100	1857	0.186	19	100	1518	0.152	0.307	
	426	108300 108400	108400 108500	108970	109070	12	45.00	, 3.926	100 100	358	0.039	7.322	100	732	0.073	0.112	16	100	1551 1896	0.133	19	100	1871	0.187	0.377	
	427	108400	108600	109070	109170	12	45.00 45.00	+ 6.992 + 3.538	100	699	0.070	3.794	100	379	0.038	0.108	19	100	1859	0.186	19	100	1898	0.190	0.376	
	429	108600	108700	109170	109270 109370	12	.45.00	3.910	100	354	0.035	3.517	100	352	0.033	0.071	19	100	1892	0.189	19	100	<u>1930</u> 1917	0.193	0.375	
	430	108700	108800	109270	109370	12	45.00	•3.577	100	391 358	0.039	3.204	100	333	0.033	0.069	18	100	1834 1859	0.183	19 19	100	1873	0.187	0.373	, e
•	431	108800	109000	109470	109670	12	45.00	4.162	100	416	0.042	3.766	100	377	0.038	0.079	19 19	100	1875	0.188	19	100	1920	0.192	0.379	ء جير
	432	109000	109100	109670	109770	12	45.00	3.911 3.747	100	391	0.039	3.305	100	331	0.033	0.072	19	100	1903	0.190	19	100	1859 1781	0.186	0.370	l
÷.	434	109100	109200	109770	109870	12	45.00	3.468	100	375	0.037	3.912	100	<u> </u>	0.033	0.082	19	100	1885	0.189	18	100	1/81	0.147	0.306	l
	435	109200	109300	109870	110070	12	45.00	3.650	100	347	0.035	7.784	100	778	0.078	0.114	16	100	1584	0.138	15	100	1529	0.153	0.326	I
	436	109300	109500	110070	110170	12	45.00	6.656 5.238	100	666	0.067	7.207	100	721	0.072	0.139	17	100	1950	0.195	18	100	1785	0.178	0.373	1
Y .	438		109600	110170	110270	12	45.00	13,002	100	524	0.052	4.653	100	<u>465</u> 504	0.050	0.080	19	100	1866	0.187	17	100	<u>1746</u> 1680	0.168	0.327	
	439	100500	109700	110270	110370		45.00	3.843	100	300	0.030	5.042	100	570	0.057	0.095	16	100	1587 1811	0.159	17	100	1774	0.177	0.359	4
	440	109700	109800	110470		12	45.00	6.635)	100	384	0.056	• 4.759	100	476	0.048	0.114	18	100	1928	0.193	19	100	1897	0.190	0.383	
	441		110000	110570	110670		45.00	4.388	100	439	0.044	• 3.529	100	353	0.035	0.079	19	100	1860	0.186	18	100	1791	0.179	0.383	
, ⁵ .	443	110000	110100				45.00	3.904	100	322	0.032	4.594	100	459	0.035	0.074	19	100	1879	0.188	19	100	1904	0.188	0.377	
	444		110200				45.00	3.710	100	390	0.039	. 3.463	100	374	0.037	0.074	19	100	1890	0.189	19	100	1894	0.189	0.379	-
	445		110400			12	45.00	3.598	. 100	371	0.036		100	356	0.036	0.072	19	100	1910	0.191	18	100	1807	0.181	0.372	4
	447		110500				45.00	3.402	100	358	0.036		100	443	0.044	0.080	18	100	1848	0.185	18	100	1784 624	0.178	0.087	1
	448		110600				45.00	4.024	100	340	0.034		100 35	163	0.016	0.030	7	35	245	0.025	18	<u>35</u> 65	1174	0.117	0.238]
	449		110700					15.486	35	141	0.014		65	289	0.029	0.130	19	65	1204	0.120	7	85	596	0.060	0.217	-
	450	100 C 100 C 100 C	110800		111470		45.00	3.979	65 85	338	0.034		85	1316	0.132	0.165	19	85	278	0.028	19	15	282	0.028	0.056	-
	452		110885					3.965	15	_ 60	0.006		15	387	0.006	0.078	18	100	1847	0.185*		100	1863	0.186	0.373	
	453		110900					4.034	100	397	0.040		100	398	0.040	0.080	19	100	1877	0.188		100	1874	0.187	0.374	
	454	1.1000						3.726	100	403	0.040		100	376	0.038	0.075	19	100	1861	0.191	2	100	1891	0.189	0.380	-
	45				111860			3.891	100	389	0.039	3.592	100	359	0.036	0.075	19	100	1857	0.185	19	100	1878	0.188	0.373	4
	45							4.432	100	341	0.034		100	422	0.042	0.095	18	100	1791	0.179		100	1791	0.189	0.377	
	451						46.00	5.094	100	<u>443</u> 509	0.044		100	410	0.041	0.092	19	100	1879	0.188		100	1942	0.194	0.382	
	45	the second s		and the second se	and the second s	0 12		1.215	100	422	0.04		100	358	0.036		20	100	1974	0.195		100	1999	- 100	0.395	
	46							4.258	100	426	0.04		100	301	0.030	0.073	20	100 ->	1997	0.200		100	<u>1978</u> 1963	- 195	0.396	-
	46							3.034	100	348	0.03		100	322	0.034	0.064	20	100	1999	0.200		100	1905		0.390	
÷	46						46.00	3.012	100	303	0.03		100	351	0.035	0.065	20	100	1953 1943	0.195	\$	100	1788	0.179	0.373	-
	46				0 11276			3.468	100	347	0.03		100		0.051	0.086		100	1993	0.193	b	100	1998		0.399	-
	46		0 11220					3.569	100	357	0.03				0.030		20	100	1961	0.195		100	1997	0.200	0.399	1
	46	- interest of the second se			and the second se		and the second sec	3.391	100	308	0.03				0.030		20	100		0.199		100	1993		0.393	
	46				and the second se	1000 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100 - 100	46.00	3.080	100	339	0.03				0.036		20	100	1007	0.193	alitication and a second second	100	1932	0.193	0.392	-
	46				50 11326			3.153	100	315	0.03		100	- 368	0.037		20			0.185		100	1956		0.385	-
	4		0. 11270					4.062	100	313	0.03			and a state of the	0.034		19		1859	0.18		100	1842		0.370	<u> </u>
÷ -		72 11270						3.914	100	406	0.04				0.041		19			0.195		100	1935		0.385	_
	4	73 11280 74 11290					2 45.00	3.008	100	391	0.03		-+		0.033		19		1010	0.193			1919	0.192	0.383	-
	H	75 11300			50 1137	50 1	2 45.00	3.199	100	301	0.0			331	0.033		19			0.194		100			0.389	-1
	4	76 11310	0 11320				2 45.00 2 45.00		100	337	0.0						18					100			0.381	-
	1	77 11320	The part of				2 45.00		100	309	0.0				0.041		19								0.374	
- 		178 11330 179 11340				50 1	2 45.00	BUNDON BIO		406	0.0	Contract of the second second					18	100	1845		- 13					
	a formation	11340	and the second s		50 1142	50 1	2 45.00	4.054	100															K		
		*		ता तेज र	ररक्षक						·												-	A STRAFT		

.

उप वेन संरक्षक

manta

वरियोजन जेवशक.

S.No. 1 2 3 4 5 6 7	CHAIN From 100000 102320 102560 103000 103220 103220	AGE (m) To 102320 102560 103000 103220 104111 105674 105674	LENGTH (m) 2320 240 440 220 891 1563	Applicable TCS Type
1 2 3 4 5 6 7	100000 102320 102560 103000 103220 104111	102320 102560 103000 103220 104111 105674	2320 240 440 220 891 1563	TCS Type I A I B I A I B I A
2 3 4 5 6 7	102320 102560 103000 103220 104111	102560 103000 103220 104111 105674	240 440 220 891 1563	I B I A I B I A
2 3 4 5 6 7	102320 102560 103000 103220 104111	102560 103000 103220 104111 105674	240 440 220 891 1563	I B I A I B I A
2 3 4 5 6 7	102320 102560 103000 103220 104111	102560 103000 103220 104111 105674	240 440 220 891 1563	I B I A I B I A
3 4 5 6 7	102560 103000 103220 104111	103000 103220 104111 105674	440 220 891 1563	I A I B I A
3 4 5 6 7	102560 103000 103220 104111	103000 103220 104111 105674	440 220 891 1563	I A I B I A
3 4 5 6 7	102560 103000 103220 104111	103000 103220 104111 105674	220 891 1563	I B I A
4 5 6 7	103000 103220 104111	103220 104111 105674	220 891 1563	I B I A
5 6 7	103220	104111	891	IA
5 6 7	103220	104111	891	IA
6 7	104111	105674	1563	
6 7	104111	105674	1563	
7				TOLL PLAZA
7				TOLL PLAZA
7				TOLL PLAZA
7				TOLL PLAZA
	105674	106040		
	105674	106040		
	105674	106040		
	105674		1266	IA
		100940	1266	
8	106940	107160	220	I B
9	107160	109380	2220	IA
10	109380	110070	690	I B
11	110070	113780	3710	IA
12	113780	114070	290	I B
12	114070	118400	4330	I A
10	1140/0	110400	-550	
14	118400	119538	1138	I B
15	119538	122000	2462	IA
		Total Length	22000	
. 1	11 12 13 14 15 NITY: HIGHWAYS TY OF INDIA	11 110070 12 113780 13 114070 14 118400 15 119538	11 110070 113780 12 113780 114070 13 114070 118400 14 118400 119538 15 119538 122000 Total Length	11 110070 113780 3710 12 113780 114070 290 13 114070 118400 4330 14 118400 119538 1138 15 119538 122000 2462 Total Length 22000















